® RBW 3 MHz Delta 2 [T1 ]
* VBW 3 MHz -0.05 dB

Ref 97 dBpv “Att 0dB SWT 120 ms 52.400000 ms

Marker 1 [T1]
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“ VBW 3 MHz -0.02 dB
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® RBW 3 MHz Delta 2 [T1 ]
* VBW 3 MHz -0.44 dB

Ref 97 dBuVv “Att 0dB SWT 20 ms 1.636000 ms

Marker 1 [T1 ]
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@ RBW 3 MHz Delta 2 [T1]
* VBW 3 MHz -0.39 dB

Ref 97 dBuv “Att 0dB SWT 20 ms 516.000000 ps

Marker 1 [T1 ]
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“Front Key”

Average Factor calculate:

The duration of one cycle = 52.32 ms

Effective period of the cycle = 1.636*4+0.516*4(3

= 27.18 ms

DC= 27.18/52.32= _0.5195  or 51.95 %

Therefore, the averaging factor is found by 20108.5195

-5.69 dB



